
MATH1050 Guided Study Exercise 3 (Answers)

1. Answer.

(a) 1, 2.

(b) 0, 1.

(c) It is the empty set.

(d) 1, 2.

(e) 2, 3, 4.

(f) 2.

(g) 0, 1, 2, 3, 4.

(h) 1, 2.

(i) 2, 3, 4.

2. Answer.

(a) α = −1.

(b) β = 1, γ =
5

4
.

(c) δ = −1, ε = 5

3
.

(d) ζ = −
√
2 + 1, η =

√
2 + 1.

(e) θ = −
√
2 + 1, κ = −

√
5

2
+ 1, λ =

√
5

2
+ 1, µ =

√
2 + 1.

(f) ν = − 1√
2
+ 1, ξ = 1√

2
+ 1.

(g) ρ = − 1√
2
+ 1, σ =

1√
2
+ 1.

(h) τ=−
√
2+1, φ=− 1√

2
+1, ψ=

1√
2
+1, ω=

√
2+1.

3. Answer.

(a) α = 0, β = 3, γ = 1, δ = −1.

(b) ε = −2, ζ = −0.25, η = −1, θ = 0, κ = 1.

4. Answer.

(a) a = 2, b = 3.

(b) 1, 4.

(c) α = 0, β = 1, γ = 2, δ = 4.
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